Day of the Dead

Times Tables Inverse Game

What Is an Inverse Fact?

When learning times tables, children have to learn the inverse facts for each calculation
too. These are the division facts for each multiplication. For instance, if I know that

7 x8 =56
I can say the inverse facts, which are

56 + 8 =17

56 +7=28

How to Play

Print out the 12 numbered calaveras (decorated skulls). You may wish to laminate the
calaveras (or cover them in sticky-back plastic) to make them last longer. Spread the
calaveras out on the floor in a large circle like the 12 numbers on a clock face. Players take
it in turns to stand in the middle of the skulls ready to answer an inverse
calculation question. Read out a question from the calculation inverse
facts table to the player. As quickly as possible, they should touch the
right answer with their foot. Gradually, make the game faster and
faster until the player makes a mistake and they are out. Take turns
with different players in the centre and see how many each player can
get right.

Alternative Version

This is a game for two players. Place the 12 skulls in a random pattern on the wall to
make a mosaic. The two players stand in front of the 12 skulls, each holding a pointer (e.g.
a feather duster, a ruler or a drumstick). Read out a times tables inverse
calculation question, such as 42 + 6 = . The first player to touch the
right answer with their pointer is the winner of that point. Choose a
target score, and the first player to reach this is the winner. Tip: If
your child is working on a particular times table at school, only ask
inverse facts for that times table.
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1x table
1+1=1
2+1=2
3+1=3
4 +1=4
5+1=5
6+1=6
7+1=7
8§+1=8
9+1=9
10+ 1=10
11+1=11
12 +1=12

2x table

2+2=1
4 +2=2
6+2=3
8+2=4
10+2=5
12+2=6
14 +2 =17
16 +2=28
18+2=9
20+ 2 =10
22 +2=11

24 + 2 =12

8x table

3x table

3+3=1
6+3=2
9+3=3
12 +3 =4
15+3=5
18 +3 =6
21 =3 =17
24 +3=8
27+3=9
30+ 3 =10
33+3=11
36 +3 =12

9x table

Day of the Dead: Times Tables Inverse Game

4x table

4+t4=1
8 +4=2
12+ 4 =3
16 + 4 =4
20+ 4 =5
24+ 4 =6
28 + 4 =17
32+4=8
36 +4=9
40 + 4 =10
44 + 4 =11
48 + 4 =12

10x table

5x table

5+5=1
10 +5=2
15+5=3
20+ 5 =4
25+5=5
30+5=6
35+5=7
40+5=8
45 +5=9

50+5=10

5 +5=11

60 +5=12

6x table

6+6=1
12+6=2
18 + 6 =3
24+ 6 =4
30+6=5
36 +6=6
42 -6 =17
48 + 6 =8
54+6=09
60 + 6 = 10
66 + 6 =11

72 +6 =12

8§+8=1
16 + 8 =2
24 + 8 =3
32+8=4
40 +8 =5
48 + 8 =16
56 +8 =17
64 +8 =28
72+8=9
80+ 8 =10
88 +8 =11
96 + 8 =12

9+9=1
18 +9 =2
27+9 =3
36 +9 =4
45+9=5
54+9=6
63+9=7
72 +9 =28
81 +9=9
90 + 9 =10
99 + 9 =11
108 + 9 =12

10+10=1

20+ 10=2

30+ 10 =3

40 + 10 = 4

50+10=5

60 +10=6

70 + 10 = 7

80 +10=28

90 + 10 =9

100 +10 =10

110 + 10 = 11

120 + 10 = 12

11+11=1
22+ 11 =2
33+11=3
44 + 11 = 4
55+11=5
66 + 11 =6
77 +11 =17
88 +11 =28
99 + 11 =9
110 + 11 = 10

121 + 11

I
-
-

132 + 11 =12

12+12=1
24 + 12 =2
36 +
48 + 12 =4
60 +
72 +
84 +12 =17
96 + 12 =8
108 + 12 =9
120 + 12 = 10
132+ 12=11

144 + 12 - 12
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